STy +;pt+taz3+1y=-4
T+ 72 +x3+24=12
Ty + Xy +6T3+Xy=-5

1+ Ty +a3+4x,=-6

Rewrite the system in matrix form and solve it by
Gaussian Elimination (Gauss-Jordan elimination)

5 1 1 1| 4
1 % 1 1|12
1 1 6 1|+
1 1 1 4/|-6

R1/5 - Ry (divide the 1 row by 5)

1 02 02 0.2

0.8 '

Ry - 1Ry - Ry (multiply 1 row by 1 and subtract it from
2 row); R3-1 Ry - R (multiply 1 row by 1 and subtract
it from 3 row); R4 -1 Ry - R4 (multiply 1 row by 1 and
subtract it from 4 row)

02 02 0.2
6.8 08 0.8
08 58 0.8
08 08 338

O O =

0.8
11.2
-5.8
-6.8

1



Ry /6.8 - Ry (divide the 2 row by 6.8)

1 02 02 02] 0.8
2 2 28
17 17 | 17
0 08 58 08 |-58
0O 08 08 38 |-6.8

0 1

R1-0.2 Ry - Rq (multiply 2 row by 0.2 and subtract it
from 1 row); Rz - 0.8 Ry —» Rg (multiply 2 row by 0.8 and
subtract it from 3 row); R4 - 0.8 R, -~ R4 (multiply 2 row
by 0.8 and subtract it from 4 row)

1 8 2 2| &
7 17| 17
06 1 2 2| B
7 17| T

¢ o ¥ 1) 14
7 17| 17

g 2 = |8
17 17 17

Rs/ 2 _ Ry (divide the 3 row by 22)
17 L

40 2 2| F
7 17| 17
p g & 2| =
7 17| 17

0 0 1 2|22
97 | 97

g 0 = =
| 7 | 1T




Rq - 1% R3 - Ry (multiply 3 row by % and subtract it
from 1 row); R, - % Rz - Ry (multiply 3 row by 3 and
subtract it from 2 row); R, - ﬁ R3 - R4 (multiply 3 row
by — and subtract it from 4 row)

100 2| ¥
97 | 97
o0 i g 2 |8
97 | o7
6 &1 = |
97 | o7
o0 0 = |2
97 | 97
R4/ 351 - Ry (divide the 4 row by 351)
'L e 9 = = |
97 | 97
mTE =2
97 | 97
b o1 =|E2
97 | 97
000 1] -2

Rq - 97 R4 - Ry (multlply 4 row by — and subtract it
from 1 row); R, - R4 - Ry (multlply 4 row by - and
subtract it from 2 row); Rs - 9—7- R4 - Rz (multiply 4 row

by E and subtract it from 3 row)

1 0 0 01
01 0 02
0 01 01
0O 0 0 1 |-2




T4 =-2

Make a check:

Pl eq e 1)+ (2)=5%2-1-2=4
1+72+(-1)+(-2)=1+14-1-2=12
1+2+6-(—1)+(2)=1+2-6—2=—5
1+2+(-1)+4(-2)=1+2-1-8=-6

Check completed successfully.

Answer:




